

Research Request

Rates and terms effective March 17, 2017. All previous fee and service agreements null and void.
[Timestamp: 3/17/2017, 2:44:00 PM]

* Required

1. My Name: *

2. My Email Address: *

3. I would like to order the following number of hours of Pennsylvania research:

NOTE: This research is primarily conducted at the Pennsylvania State Archives and the Pennsylvania State Library. If you would like a quote for ON-SITE research in any Pennsylvania county(ies), please contact us via this link: <http://www.pennsylvaniaresearch.com/contact.html>
Mark only one oval.

- 2 hours at \$60/hr = \$120
- 3 hours at \$60/hr = \$180
- 4 hours at \$60/hr = \$240
- 5 hours at \$55/hr = \$275
- 6 hours at \$55/hr = \$330
- 7 hours at \$55/hr = \$385
- 8 hours at \$55/hr = \$440
- 9 hours at \$55/hr = \$495
- 10 hours at \$50/hr = \$500
- 11 hours at \$50/hr = \$550
- 12 hours at \$50/hr = \$600
- 13 hours at \$50/hr = \$650
- 14 hours at \$50/hr = \$700
- 15 hours at \$50/hr = \$750
- 16 hours at \$50/hr = \$800
- 17 hours at \$50/hr = \$850
- 18 hours at \$50/hr = \$900
- 19 hours at \$50/hr = \$950
- 20 hours at \$50/hr = \$1,000

4. My research involves these Pennsylvania counties (check all that apply):

Check all that apply.

- Adams
- Allegheny
- Armstrong
- Beaver
- Bedford
- Berks
- Blair
- Bradford
- Bucks
- Butler
- Cambria
- Cameron
- Carbon
- Centre
- Chester
- Clarion
- Clearfield
- Clinton
- Columbia
- Crawford
- Cumberland
- Dauphin
- Delaware
- Elk
- Erie
- Fayette
- Forest
- Franklin
- Fulton
- Greene
- Huntingdon
- Indiana
- Jefferson
- Juniata
- Lackawanna
- Lancaster
- Lawrence
- Lebanon

- Lehigh
- Luzerne
- Lycoming
- McKean
- Mercer
- Mifflin
- Monroe
- Montgomery
- Montour
- Northampton
- Northumberland
- Perry
- Philadelphia
- Pike
- Potter
- Schuylkill
- Snyder
- Somerset
- Sullivan
- Susquehanna
- Tioga
- Union
- Venango
- Warren
- Washington
- Wayne
- Westmoreland
- Wyoming
- York

5. For the fee stated below, I would like to order on-site research in these surrounding states:

NOTE: This can be ordered in addition to Pennsylvania research, or separately. Fee includes at least 10 hours of research, travel, parking and other reasonable expenses.

Check all that apply.

- This is NOT APPLICABLE to my research order.
- Ohio (on-site trip to state history center = \$1,250)
- Ohio (on-site at BOTH state history center AND state library = \$1,550)
- New York (on-site trip to state archives = \$1,200)
- New York (on-site at BOTH state archives AND state library = \$1,500)
- New Jersey (on-site trip to state archives = \$800)
- New Jersey (on-site at BOTH state archives AND state library = \$1,100)
- Delaware (on-site trip to state archives = \$800)
- Maryland (on-site trip to state archives = \$750)
- Maryland (on-site research at Pratt/Central Library = \$650)
- Washington D.C. (on-site trip to district historical society = \$750)
- Virginia (on-site research at Library of Virginia = \$1,100)
- West Virginia (on-site research at state archives = \$1,200)
- National Archives, Washington D.C. (on-site trip = \$1,200)

6. The names, birth/death dates (or estimates), and places of residence of my research subjects are: *

7. My goal for this research is to...

8. I would like these specific tasks to be included in my proposal and/or research:

Check all that apply.

- Obituary Search
- Estate Records Search
- Land Records Search
- Birth Register/Records Search
- Death Register/Records Search
- Marriage Records Search
- Church and/or Cemetery Records Search
- Privately Owned Archival Collections
- General Newspaper Research
- Personal Interviews of Surviving Relatives
- Other: _____

9. Sources and repositories I've already consulted include:

Check all that apply.

- Online Subscription Research Services
- Historical Newspapers
- Local Libraries or Societies
- Local Churches or Cemeteries
- None of the Above
- Other: _____

10. These additional details may be helpful to the researcher:

11. My research order includes: *

Mark only one oval.

- Pennsylvania research only
- Pennsylvania research PLUS research in surrounding states

12. My research order totals (in U.S. dollars): *

13. **Payment:** *

Mark only one oval.

- I am mailing a check to: Stephanie Hoover, P. O. Box 4921, Harrisburg, PA 17111
- I would like a PayPal invoice sent to the above email address.

14. **I understand that my research fee pays ONLY for Stephanie's time and expertise, and that positive results cannot be guaranteed.** *

Check all that apply.

- Yes, I understand.

Powered by

